Adding Two Negative Numbers Using Number Lines

1. (-2)+(-8)=7
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4. (-2)+(-3)=7
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5. (-4)+(-5) =7

I R T R R A R
I B |

42 M1 140 4 B F 6 5 -4 3 2 A4 D

@. (-@)+(-2)=7
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a. (15)+(10)=7
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-40 -25 -30 -25 -2p 15

10. (-25)+(-5)="
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-40 -25 -30 -25 -2p 15

M. (15)+(-25)=7
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-40 -25 -20 -25 -20 15

12. (-56)+(-25)=7
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-40 -25 -30 -25 -20 15

12. (10)+(-5) =7
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-40 -35 -30 -25 -2p 15

14. (-20)+(-10)=7
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-40 -25 -30 -25 -2p 15

15. (15)+(-20)=7
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-0 -55 -50 -45

-40 -25 -20 -25 -2p 15

16. (-45)+(10)="7
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-0 -55 -50 -45
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-40 -25 -30 -25 -20 15

v N\ % 4 Vv

A4

\ %4

\ %4

\4




